prod-deq®??

prod-deq(A;B;a;b)
=def (AA,Baaab,paq Q/qlaq2'
p/p1.p2.
b/eq,b;.
a/ey,aq.
(A%1.%
(A% ((A%1-%01(p1,41)/ Toa; Y05 Toa((AV01.%01) ((A%01.%)(x)))) (a1)
s (A%01.%01(p2,42) / Y04, %05 Toa((A%01.%01) ((A%01.%)(%)))) (b1))
,A%.%/) %1, %2. *)))
((A%1.%1 /%02, %3. %o3)
((A%1-%1
((p1,p2) = (a1, 2)
(p1,p2) = (a1, q2)
e1(p1,q1) N2 eq(p2,q2)
e1(p1,a1) & eq(pa,qe)
(A%1.%1) (A\%1.(\%2. %2, \To2.%02) ) (¥))
J(A%1.%1)
((A%1.%1(e1(p1,q1),eq(p2,g2)))
(Ap,q. Case q of
inl(z) = Case p of
inl(z) = (A%.(x, %), A\%.%)
inr(y) = (A%.(any(%), *), \%.%/%1,%2. any(%1))
inr(y) = Case p of
inl(z) = (A%.(x,any(%)), \%.%/%1,%2. any(%2))
inr(y) = (A%.(any(%), any (%)), A%.%/%1,%2. any(%2)}))))
(AP, P5,Q1,Q2,%,%1. (A%2.(A\%3.(A%4.%4/ %5, %e6.
Jo5
((A%4.%4)
(A%4. %4/ %5, %6 .
P05
(A%4-%4)
(A%4.%04/ %05, %6 To6((A%04.%4) ((A%04.%04)(%3))))
(%))))
(%2))))
(%1)
s A3 (A%4.%4 ) Vo5, %6.
Tos
((M%4.%4)
(A%4. %4/ %35, %6 -
Jo6
(A%4.%4)
(AN%04.%4/ %05, %06 Vo6 ((A%04.%04) (A%04.%4)(%3))))



(%1))))
(%2))))
(%))
s A2 (A%3.(A%04. %4/ Y05, %6 -
Jo6
((MN%4.%4)
(A%4. %4/ %5, %6 -
Jo5
((MN%4.%4)
(AN%4.%4/ %5, %6. %o5((A%4.%4)(A%04.%4)(%3))))
(%6))))
(%2))))
(V1)
s A%03.(A%4. %4 ) %05, %06
Jo6
((A\%4.%4)
(A%4.%4/ %5, %6 .
Jo
((A%4.%u4)
(MN%4.%4 ) %5,%6. Yo5((A%4.%4)(A%4.%4)(%3))))

(%1))))
(%62))))
(7))
(A
B
b
clarification:

prod-deq(A;B;a;b)
=def (AA’B’aabvpvq q/qlaQ2'
p/p1.p2.
b/eq,b;.
a/ey,aq.
(A\%1.%1
(A% ((A%1. %1 (p1,q1)/ To4,%5. Yoa((AVo1.%1) ((AT01.%)(*))))(a1)
s (A%1.%1(p2,42) / %04, %5 Toa((A%01.%01) (A%01.%)(%)))) (b1))
A% %/ %1, %2 *)))
((A%1.%1 /%2, %3. %o3)
((A\%1.%1
({p1,p2) = (q1,q2) € AXB
Ap1,p2) = (q1,q2) € AXB
e1(p1,q1) N2 eq(p2,q2)
e1(p1,q1) & eq(p2,g2)
,()\%1.%1)((/\%1.</\%2.%2,)\%2.%2>)(*))

2



J(A%1.%1)
(()\%1-%1(61(plaq1)7eq(p27QQ)))
(Ap,q. Case q of
inl(z) = Case p of
inl(z) = (A%. (%, %), \%.%)

inr(y) = (\%.(any (%), *), \%.%/%1,%2. any(%:))

inr(y) = Case p of

inl(z) = (A\%.(x,any (%)), A\%.%/%1,%2. any(%2))

inr(y) = (A%.(any(%), any(%)),

(AP, P,Q1,Q2,%,%1. (A2 (AVoz.(AVos.%04/ 05, %6 -
Yo5
(\%4.%4)
(% /%5 .
Yo5
(\%4.%4)
(A% %01/ %, %
(%))))
(%2))))
%1)
NV (A%oa.Y%n /o5, e
Y05
(\%4.%4)
(\%s% /%5 .
Yo6
(A%a.%4)
(%% /% o
(%1))))
(%2))))

0
N (A% (AY%4.%4 /%5, .
To6
((M%4.%4)
((AN%4.%24 /) %35,%6.
Jo5
((A%4.%4)
(MN%4. %24/ %s5,%6
(%0))))
(%2))))
(%1)
 A%3.(A%4. %4/ %5, %6
Jo6
((A%4.%4)
(N%4. %4/ %5, %6
Jo6
((A%4-%4)
((MN%4.%4 ) %5,%6

3

Ao %0/ %1, %2. any(%z2))))))

- To6((AV0a-%04) (A%04.%4) (%3))))

- Y06 (AV0a.%04) (AV04-%4)(%03))))

- Y05 (A%04-%04) (A%04.%04) (%3))))

- Y05 (A%04-%04) (A%04.704) (%03))))



(%,

(%2))))

N)))
(A
B
)
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